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7&H K4 #F #H FR SCER B

100m EIL E 3 63 2 11757 +1.8
A TAER 2 55 7 11757 +2.0
NS FEKER 2 66 4 11772 +0.2
AK K 2 84 2 11773 +0.7
HE Imts 1 37 2 11789 +3.3
T BK 2 43 2 11793 +1.5
WE X 1 83 4 11794 +0.7
ER EARR 1 44 4 11798 +3.2
EH mE 1 46 5 12”05 +1.4
b+ B 3 70 7 12”709 +1.5
® NS 2 16 2 12714 +2.7
INE R 1 26 5 12718 +3.1
XS 1EH 1 24 2 12719 +2.3
AR M 1 M 6 12721 +1.6
=W &R 1 21 5 12721 +2.4
AR B 2 21 6 12722 +2.4
MU ERE 2 24 3 12723 +2.3
e ER 1 18 2 12725 +0.8
SH & 1 18 4 12739 +0.8
INIE 12 1 7 5 12740 +3.1
K¥E % 1 17 4 12748 +1.1
AT & 1 7 6 12”51 +3.1
h# FEA 1 4 2 12771 +1.8
AH K 1 5 1 12772 +1.8
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200m L & 3 43 5 23”73 +0.4
NS ZEKER 2 65 1 23”73 +0.1
b+ B 3 61 7 24”60 +0.1
T FR 2 28 4 24”77 +0.9
AK Kih 2 70 4 24”79 +0.2
AR B 2 80 3 24”79 +0.2
NI BEE 2 30 5 25”11 +0.1
mH EN 3 26 4 25727 +0.6
K 5E 2 20 3 25747 +0.4
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400m NS IES]) 3 25

B K4 FHE H BIE RO &%

1500m TH thHR 3 16 3 4’11790
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55 & 1 21 4 4’18768
HEE =2 2 19 3 418”78
F A 1 11 1 4’30718
mH S 1 11 12 4’41703
gk —F 1 5 16 4’ 58”04
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K A 2 3 5 9’ 31”50
K4 HE M BIE AoEx

TH thin 3 7 7 15" 54”69
IR BE 3 7 23 16’ 12799
WE 055 3 5 41 17° 27790
K4 ¥HF #H FE SCER

IR @& 3 4 3 10’ 23”15
EHE SAER 2 4 8 10’ 42”09
K4 #H EIE E

BK-EEA- ) &=l 7 5 " 44”55
ST - 78 - 7k B - 4 EF 14 3 " 45793
B 3 - AR 25 - At 7 DQ

K4 #H &EIE fogx

=2 SRR TIIES= ¢ S ==} o 9 1 332780
INL BRI B KB 9 4 3'37723
FAFT - TR - RFOH - #5 3 4 336707




